20140 O
Jubgdbod oot
Joog

Joooobobobbood
J0ooooboobooooon

Jubgtdb oot
13SM2111
Jootd



g1d

020
2.1
2.2

2.3

030
3.1
3.2
3.3

3.4

040
4.1
4.2

gs0d
5.1
5.2
5.3

g

gooboooooon
0
gboboobooobobon

O e

221 0000000000 O00O0O ... 0o oo

222 RICH ......
223 DIRC ......

2.2.4 Time of Propagati
Oo0o0ooooooood

on(TOP)OOOODO . ... ... .. .. ....
ogoooono ..o n s

231 0O00OO0OO0ODOOODOOODOOODOO &0 ..
232 DOOOOTOPOODOOO ...

ooooooo

gooooo ... ...
NIMOO ........
ogooooooo .. ..
3.3.1 Discriminator . .
3.3.2 Gate Generator .
oooooooooo .
3.4.1 CAMAC. .. ..
3.4.2 ADC, TDC . ..

goboooood

ugbooogoood ...,

421 DOODOD00OD00OD0O0O .. o e e

422 @/KOO . ...

RN
goobooooooon
gooooo ... ...
gobooboooboobon

10
10
10
10
11
11

13
13
13
13
16



5.3.1
5.3.2

ged OO

ooog

gugboog

I

ii



0i1i0d O

ubooboobbobboboobooboboobobbooboobbobboboo
gboobooboooboobobooboobooboooboboooboobooboon
gbooooboooogoboboooboobobooooobooboobooooboobooboooon
gbobooboooboooboboobooboobobboboobobooboboon
gobooboooboboobooobooboonobo
gboobooobooboobooobooboooboooboboobooooooboobooobobon
gobooboobbooboooboboobooaboo
gobobooobooobbooobbooobboooboooboboooobboon
gboobooogoboboooobobooooobooboboooobooooboon
gboooboooboobobooboobobooboobobooobooboooboon
goooboooboooooboooobooboboobobooboobooboon
gboobogooboobooogooboooobooboobooooobooboooobooboboon
goboobooobboooboobbooboobboobobooboobbooobooo
000000TOP(Time of Propagation) 0 000000000000 O0OOOOOOO
gboooboobooobooboooobooboboooobobobobobooooboobn
oooo0o0oboU0oO0obOOoOooOo0oobDOoOooOoOoUobDboOooooDboOo TOPODO
gooboboooboooboooboobooboobobobooboobooboobonoon
gbobbobobooboboooooooooooooooooon
uboboobooboobobobgoboooboobobobobooooobobobogan
gobobobobobobobooooobobobooboobobobobobOoon



020 0O00OO0OO0OOooOoOood

gbooboooobooboboobobboboobobobooboboobaong
gboogooobooboobobooboobbooboobboobooooboo

2.1 OO

00000000000000000000000000000000000000
0000000000000000000000 O0000000000000000
0D0nO0000000000000000vOOO000000O /0000000000
00000000000000(0 (2.1))

C

0210000000000

gooooooooooobooo0oooooOoUoooo0og e.ODbOOOODOL. O
0(22)0000000n0 B(=v/c)DUODOOOOA.0D0O00DOO0DOODOOOOODOO
0000000000000 000O0NOOD (23)00000000O



0, = 21 2.2

cos el Bn (2.2)
A2 gin? 4,

N =2ralL A 2 X (2.3)
1

0((23) 00000« 00000000LO0DODO0O0OOO0OOOOOOANDOOOOD
gbobobobo

gboobooooobobobonooobobobobooobobobobooobono
0000000000000 0CO00000DO000DO0O0OOO0O000ODOOOO RICHD
TopoooOoooODIRCOOOODO

22 QJ00LOOo0OoOooooon

221 000O0OOOOO0OO0OOLDOOOO0

0(1)000000000000000000O0OOO00O0COOOO0OObOODOOO
OpgO0O0d0oDOOO0O0O0n00d0D0OO0O0O000ODOCOOOO0ODOOOODOOOODOn
00000DOO0o000OoOoO00oODO0oDOO0o00DOOOod pOODOOOO0 OO0 M
00000 (240000000000

__ Pm

P
0 (24)00 (21)00000000000000000000000000000 (25)
oooooo

(2.4)

Bm m

p:\/l—ﬁ2>\/n2—1

00000 (25)00000000000000000 p0000000000O000
000000 pipreshora 000000

(2.5)

m

Nov (2:6)

Pthreshold =
O (2.6)DDDDDDDD nd0000000000000000000000000
gdoodoooooodoooououoboooooonoodoooonouooon
godoooooooooooooodoooodoooooooboooooooooon
go0doo0oooooooooooooooboooooonooa



w
wn

[T
~

Il
w

Threshold momentum[GeV]
w

e

Ny

/

e

wn

P

N~ T

0.5

0 [ | L1 [ [ [ [ [ [
1.005 1.01 1.015 1.02 1.025 1.03 1.035 1.04
Index

0 22.000000000000

2.2.2 RICH

goboboooboboooobbooobboobbooobbooobbooooo
0(22) 000000000006 000D000DO0OO0OUOOLUOOODOOOOBOO
oooobooOn00D0O0OO0O0OO0DOO¢.000DOOOODOOOODOOOOOOOD
0000000 (2700000000000 pO000OOOO

R— (2.7)

ncos 0,

00000 (27)00 (24)000 (28)0000000

m = py/(ncosf.)? —1 (2.8)

0(28)000000000DO0OD00UULD pOOOODUDOOOOOODOODOUD 6,00
Jddddmddoooogooooooooooooobbbbbbbbbbboboo
00O Ring-Imaging Cherenkov detectors(RICH) D 00O (O 2.3)

2.2.3 DIRC

DIRC(Detection of Internally Reflected Cherenkov light) 00 ORICHO O OO OO
O00000DIRCOOO0ODDOO00D0ODO00D0O0O0000000000000O00000
ggooooboooooobbouooooobuooooobobobuoobbboooon



PLFAICLD
Frlra7%
HFBICLD

RN

EaHA
FEAR H 2R

O 2.3: RICH

gbobooboooobooboobbobboobooboboboobbxyboonooO
gobooboooboboooobooboobbooboooboboobooo

2.2.4 Time of Propagation(TOP)O0 0O 00O

TorPOOOOOOOODODOODOOODODOODOODODOODODOODODODOOODODOODO
0ooDdoooooooDOoooDOoooOgde.00000D00D0ODOODOO0ODO0OODOD
00000 (Time of Propagation) 0000000000000 O0OO

HFAICED

Y T Sttt

E

B¢

HBHT iR 155

024 TOPOOODOOOOOOOOOOOMOOODOOOOOOOOOODDODOODOD
gboboboobobooboobooboboooooooo



23 UJ00oobbooooobbbouooad
23.1 0D00O0OOOOOOoOobObOooaOobn

000000000 3.1)0D0oooooooo

Nout
Nin

sinfr = (2.9)
O0000n0n,, OO00D00000000000000O00O0O0O (2900 (22)00

gbooobooboobobobobooboooooboboboboobonoooboooong

O0o00000o0o0oo0o0oo 3.2)bo0oooooo

Nout 1
) — arccos(
Nin Bnin

Oin, > 017 — 0. = arcsin( ) (2.10)

ooooe,00000b0b00000obO00ob00obO pO000bOO0ObOOODOODO
goobtboooobobdooouobobotoooobbtboooobobooobobobuooon
ooooogog

B FAICELD

\ HFBICED
\
\
0

VAN

\\ C
e/K .

BHF JeiR AR

Frl»a7%

025 0000000000000 0O0O0ODOO0ODODOO0O0OOO00bOO0000O0OO
ooooooooogoog

00000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000 21020000000000000
00000000 200dB/km(000)0000
00000000000000000000000000000000000000
000000000000000000 2600000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000



000 (core) 000 (clad) 00 [0 /km] ooo
ESKA CK-40 1.49 1.42 30000 gooooo
multicladfiber 1.59 1.49(inner), 1.42(outer) 500000 Kuraray

02100000000

gboobooboooobooooobobobooboobooboboboobooboooobooon
gobobooboobobogoboobobobobb 200 10bbob0obooboobOooooon
gobodgboobboobooobbooobuooboobboobuoobo

026 00000000000 0OO0DOO0OOOODODOO

232 DOOOOTOPOOOOO

ocooooTopPpOOOOOOOOOOOOOOOOOODOODOOOOOOODODDO
ooooboooboOobOooboO0ooobOoboboooOoboooo TOoPODOOOODODO
goobobobobooboboobooboobooboobooooboobooon
gbooobooboboooogooooogoboboooooboooobooooboon
0000000 PMT(DOOOODO)0DDODOOOOOOOODOO
gobodbooobooboobbooboobboobooboobobooobooo



30 Ooubotn

gobodgboooboobooobobooboobbooboaoboo

3.1 0JOO0oon

gbobooooboboooobobooobobboooboooooobobooobobooooo
O00000000000000 (PMT:PhotoMultiplier Tube) 00O OPMTO OO OO
gbooooooooooooooooooooo20b0b00b00bDOD

=]
. OED B OB AR ER O (R

\ .Il-ﬂl.l--lla-l

031 0. bobobboobdoboooboboooobobobobo pPMTODODOOOO
ooooopPMTOD:OODOOOOOOO PMTOODOOODOOOOOO

PMTOOOOOOOOOPMTOOOOOOOODOOOOOO (Photocathode) O 0O O
goboobooooboobooboobboboboboobooboboboboooba
gobooooobobobooooooooobooboboobooboboono 200000
gboobooboobobobooboobbobooboobooboooboooobobooong



gbboobuogboogbobuoobooboboobooobooboobooooobooo
gobooobooobobooboooboboobooobbooboobboobooobobon
gooooooooo pMTODOOODOODDOODOODOODODODOODOODDOOD
gobodbobooobodgbooobooobooobooab
gobooboobooboboboobobogobooobo pMTOODOOD PMTODODOODOO
gooobooooboooobooboobooboobobbooboobooboooboon
gbboobuooboboboboboobuogboobobooboboobooooboon
gboooobooboooboobobbobooboobooboobooboboon
gobooboobobooobooobooo

3.2 NIMOO

NIMOOOOOOOOO)OoooOooooooooooooooooooooooo
gboboboboooooooobooboboooboobooobobobo NIMOOO
oboooboobbooboboodboobooooboboobboooo0nog NIMbin O O
gobooooobooooooooobooooooooboooooOooooOoDO NIMO
gobooobooobobooboooobooboooboobooobooboon
032000000000 0DODO NIMbinODO OO
OO0 NIMbinO NIMODOOOOOOODDDDDDONIMODOODOOOODO 22.225cm0
034em00000000O0O0OOO0OOODODODODODODODOOODOOOOO0
oboobobobopn000O00o0ooOooOooooogonDg

032000000000 NIMbinOOO



3.3 Uuooooond

goboobbooobooboboobooobooboonoobg

3.3.1 Discriminator

0000 Threshold(ODO )0 OODODODODOODODODODODODOOOOODODOOOOOOO
gboboobobooobboobbooboooboooboooboooboobooboo
Discriminator 0 PMTOOOOOOOOO0O0O0O0O000O0O0OO0OOOODODODOODOOOOO

Input \/

Threshold

Discriminator

Output

O 3.3: Discriminator

3.3.2 Gate Generator

U0000000 nsecO00sec000O0DO0O0ODOO0ODOOODODOOONODO Delay
gboobobboobooboobuoobobouobobboboobuooboobodoong
O0000O0O000000000D0DODODOD0ODOOO0OO GateOOO ADCO ThCOOOO
goooooboooobd

34 UUOOOUOOoooo

OOoOOOOADCO TDCO CAMACOOOOODOODODOOOOOO ADCOTDCO
CAMACOOCOOOOOOOODDOCOD

10



3.4.1 CAMAC

CAMAC(Computer Automated Measurement and Control) 00000000000
00000000000000000000000000000O00O0O0O0000O0
gboboboobooboobuoobooboobuoooooboooooboooboon
gooobooobooboboobooboboobobooboobooboboon
000000000000000000000O00O00000000O00000000O0
(Data Acquisition(DAQ)) 0000000
CAMACOOODOOOODODOOODOOCAMACOOOODODOOODOOODOOODO
0000000000 DATAWAYOOOOOOOOOOOOOOOOOO0O000o00o00
gboboooogoboooboboobobobobooboboooboobobooboboooon

O 3.4: CAMAC

3.4.2 ADC, TDC

ADCOOOOOOOOODOOOOOOOOOOoOOoOOODODODOOODODODOOADCO
gbobooboooboobooobobboobooboobobobboobooboooobooon
gbooboooboobooobobobooboobooobooboboooboobooooboon
gbobobobobobo

ADCODOOO0O0CDOO0OOODODOCODO0OO GateOOOODODODOOOOODO Gate
000000 GateDOODOOOO0ODOODOGateDOOO0ODOOOOODOOOODOOO
oooOO0O0OD0ODOOOOO0OO00000000ADCO GateODDOODO ONOODOOOO

11



O000000000ooooOooOo0OooADCOOOOOOODO 1count = 0.25pC O
oon

Gate

O 35 ADCODD0OO GateDOODOOODDOOOOOOD

TODCOODODOOOOOOOOoOoOoOoOoOoOobOoOOoooooooooooooooo
O000O000000O0D000 TDCODO 1count = 54ps0 000

12



40 0OU0OOUOOOOO

4.1 Geant4

Geant4 JO0DOOO0ODOOO0ODOOOODOOOODODOOOOOODOOOOODOOOOD
goboooboooooogooogoboooboooobbooooboobooboobooobo
gbboboooooboobuoobooboobobooboooobobooobooo
gboooboobooboboobooboboooboboooobobooboobooon
gboooboboooboooboboobooboooboobobboooboobooooboobo
O0DO00DO00D0O00D00Geant40 000000 OCODOOODOOODOODOODO
goobobooboobooboobooboboooboobooboooobooboon
gbooobooboboooogboboboboooboobobooooobooooboon
goboobooobbooobooobooobooboobboobooooboo

4.2 0O0O0O0O0O0OO0O0O

4.2.1 0O0O0O0O0OO0OOOOO

article detector 3
P 1 T

HF
B EEE. ANAE
“IPAIN—
=M. BifE. B B
, EEOES. BINE
,_.-;;::f;eo%‘“ R
| TS

0410000000000

13



O0000O0O0OOoOOO0OO0OO0OO0 (050 51)000000000000000O00O00O0O
gbooboooogoooboobobboboobooboobobooobobooong
000000000000 00000D0 Geant4OODOOOOODODO

gooooboooooobooooobooooboboboo TOPOOODOOOODOO
gboooboooobobbobooboooboboobooobobooooooobooog
goboobobooboobooboboboobooboobobboobooboobg
goboobdbeeboobOob4000000000D000DOOOODOOOODO
gboobobooboobooboobobboooobboobbobesebObDbOODOO
googoooon

00 | 000 [GeV/c] | fiber 00 O0ODO (core) | fiber00 000 (clad)
et 0.47 1.49 1.42

041 000000000000000

gbooooboobooboboobobbobooobob soemdgnonooonOg
030°0000000000000000000DO0OUOO0O0OODDOOUOOOOO(O
42)00000000000000C0DO0O00ODOOOO0OOOOODODOOOOODOOO
gboogoobooboobbooboobboobooboboooboobooon

12

Np.e.

10} —-veee 4444444444444 ............. ............. ............. ............. ............ ............

p0 =0.50 = 0.00

pl=0.03 0.03

O 11 | I 11 1 I 11 | I 11 1 I 11 | I 11 | I 11 | I 11 | I
0 2 4 6 8 10 12 14 16 18 20 22
layers

042: 00000000000000C0OO (p0:0D00pl:00)00000DOOOOOOOO

14



gbobobobobobobobob soembgboobobOobDOD 1000000
000000000000 000O0000O0O0O0D00OO0O0OODOO0OOnO (210000
oboboboboboouoooouoboobooboooo 4300b00bogog245°0000
gooooo

o
w

@
N
a

‘\H\‘\H\‘HHTHH‘HH‘HH‘HH

Time[ns/m]

o
)

5.15

5.

5.05

1

>
©
al

co b b b b e b b b by
10 20 30 40 50 60 70 80 90
Incident angle[deg.]

>
]
O[TTTT

0 4.3: e"(000 470MeV/c) 00D O0OD0O0OD0ODODO0OOOOODOOO

e 1 ; 8
5 E E4 ¢ °F

= g C

09E 7E
s X =

0.8 C
g + ot

0.7 ¥ C

061 5:
E = X

05F ac

0.4 c
£ 3

0.3 C
C 2

025 E X

0. E = *
E £

oErs ol bl b e i F PRI EFRTAIN A RVRNETE SRVAVANIN SVARTAI SATATAT SRR
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40

angle[deg.] angle[deg.]

044 0:.00000000000:.0000000000O0

U440000000000D0DOOODOODODLDOODOODODOOLOOODOO
000000O0000o0O000booO0O00 (21000000000 DOOO0DO0ODOOOOOD
gooooobobobo 4400000000000 0DO0DOLOOODODODOOO
gooobooobooboobooboboobooooboboboobooboobooo
good

15



bgbbobubobobuoboobobobdubeebuobobooboboabg
glodbobobobobobobobobo oebobobobobobooboobooboO
googoobooboobboobuoobboobuodsbgbboonOoo

Np.e.

p0 = 5.15 + 0.02

pl=25.52 +0.62

\\\\i\\\\i\\\\T\\\\i\\\\i\\\\

o
N
(<2}
[oe]

10
length[m]

045 0000000000000000000000 (p0 * exp(—%))

00000000000 (4.1)0000000000000000000O 25.5mO0000

I(z)=Iyxe % (4.1)

0000000000 «00000O0C0DOOO0DOODOOODODO((E® 460000000
ooooooooooogoogonog

4.2.2 7/K 00O

0000000000 +/KOODOUOOOOOD0OOO0OO0O00O0O0ooooooooo
000000000000000000000000 et0000000

OO0 | 000 [GeV/c] | fiber 0O O0ODO (core) | fiber 00000 (clad)
/K 1 1.49 1.42

042:7/KOO0OD0O0O0OO0O0OOOOOOOO

16



Sigma[ns]

| R A— —

p0 = 0.05 + 0.00

pl=0.17 £ 0.02

10 12
length[m]

0 46: c00000000000000000 (p0* x4+ pl)

17



gbobobobooboooooobooboboobooooobob3emobonbooO
ooboooooboobooboboboobobobooboboouoobobooooan
googoboobooboooboo

K id
—5.25 .
Ehaal — pion
(%] -
st kaon
£ B : :
5.15/—
5.1
5.05/—
5;
S S IV IR I I R I P S
0 10 20 30 20 50 60 70 80 90

Incident angle[deg]

0 47: 000 1GeV/cO n/KOODOOODOOOOOOODOOOODOO

5 E X g r
E g L
0‘9: 7E
0.8F E
g - o
07F E
0.6 5:
055 =
0.4F C
£ °
04F E
ng 2
02F £ H
= : 1E -
0.1 i>< pi E > pi
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
angle[deg.] angle[deg.]

U048 0:00000000000:00000000000

et 00000000 Npe.0OODODDODODOOODODOODODOODODOO
gbobgobosoeooboobgsocegboobobobooobobobooboboonD oo
0000000000 KOODODDODODOOOOOO((@ 48) KOOOOOODOOooooo
3% 0~0000000007M%0000000000003000020000000
goooboboooboobobobooooooboobooooobobobbonD 43000

18



O00000000hit0D0000O0 2% 0000000000000 0000OO0O0ODODO

goboooooboooon

1200

1000

800

600

400

200

\\\‘\\\‘\\\‘\\\‘\\\‘\\\

X pion

kaon

L

. .
14
Np.e.

0 4.9 «/KO Npe. 00OOODOOO0ODO «/KO Npe.OOOOOOOODODODO

hit | no hit | DO OO
3 0 hit
2 1 hit
1 2 no hit
0 3 no hit

043 0000000000

OO0000ooOoOOo TorPOODOOOOOOOODIODDOOOODOOOODOOOODO
000000000 3000000000000 0000«/KOOOODOODOODOD
goboobooobobodb ebbOo0obOoobDbOo0onooon

7/ KOOODOODOOOOO0OO00O00o00o0O0o0 25.5m0000000 10mO0O0O
oobob01msOO00D0OO0ODOOOO0ODOOODO PMTOOODOODOOOOOODO

goboobooobboooboobooonoo

19



im
Entries
C Mean
2500—
L RMS
r Integral
2000
1500 —
1000 —
500]—
ol L d s Ll b b
4 a5 5 5.5 6 6.5 7 7.
time(ns)
5m
Entries
Mean
3000— RMS
r Integral
2500—
2000 —
1500 —
1000—
500—
T T ST T T T T T I
%D 22 24 26 30 32 34
time(ns)

3500
5.04
0.015

3000

3m

Entiies 10500

Mean 15.12
RMS 0.04568

5000 E Integral 4999

2500

2000

1500~

1000

500
Eo o NN
9 14 16 18 20 2

time(ns)
10m
17500 Entries 35000

3000 Mean 50.4
C RMS  0.1644
E Integral 4999

2500(—

2000~

1500[—

1000~

500—
PRTRTEEN ISR T I AU I UNETEI I
% 50 70

0410 0D0ooooooooog

1.8

Time[ns]

1.6

14

12

0.8

0.6

0.4

0.2

\H*\H*H\*\H*\HT\H*H\*\H*\H*\H

p0=0.17 £ 0.01

pl=0.00 + 0.02

10
length[m]

0 411: 0000g0ooooogoog

20

time(ns)



Us0 OO

0000000000000 000D0O000O0O00O00O0O00 470MeV/cO0D00O0OODO
gboooboooboobobooboboobobooboooboboobooboon
goboooooooboooobobooboboooboboboooooooboooon

5.1 UOOOOOoooon

0000000000000 0000D000 GeVyOOODOO 470MeV/cO00O00O0O
goooooboogn
000o0o00o00o0o0o0o0U0oO0o0UO0 (boUooL)ooDoLOoOoUoooUoOoOo
000 (STBOOO)ODOOOODODODODODODOOOOOOODOOOODOODOODOOODOOD
OO0O0O0O0O0D0O0O000O 150MeVOOOODOOOOOODOOODSTBOOODOO
0000STBOOOOOOOOODOOOO0OOO0ODOO0OO 1.2GeVOOODOODODODOODO
gbbooboobboobbobbobobobbuoobobbooboobuoobodan vy
00D000O000OO0O~00 GeVyUDOOUODOODOOOOOOODODOODDOODO
O000000000o0o0ooooooo0000ooooooooooooDD RTAGX
oboooooboobodceobooboboooobobobooobooooooboon
goo

5.2 O0OOOOO

000000000000 5.100 520000000

Triggerl,2 0 Trigger3, 400 PMTOOOOOOCOOO0 lem*lem 000000000
O00000O000PMTIOOOOOCOO-1000v00000000000000000C
00 Triggerl, 200 0000000000000 Trigeer3, 40 000000000000
0000000 400 trigger counter 0 ANDOOOODOOOOOOOOOOOOOO
0000000 Triggers 00 0000000000000000 Triggers 000000
Trigger 00000000 lem*lem 00000000 PMTOOO0O0O0O0O0O00O00O0O
00 Trigger 0000000000000 lem*lem00000000000000 1.5cm
O00000Otrigeer 100000000000 000000000000000000O
0000000000000000000 Trigger J00100ns 0 delay 0000000

21



10mm

iy triggerd
PMT BN PMT]
trigger3
i S
e Sl
triggerb
BE#8 PMT
trigger1,2
e+
051: 000000000
Dark Box
coincidence
@ Gate Gene.
| PMT2 I o
| PMT3 I S
3
| PMT4 l 3
[e]
| PMT5 I -
| PMT®6 l
— >
(W)
(@]
Gate Start
0 5.2 000

22



oooobooD immO00000000O00DO0DOODOOOOOOOODOO0OD
Oo0000oopMTOOOOOOOOOOODOODOOO ADCOTDCOOOOOOOOO
U000 smiOboooDooooooobboObdelayD000O0O1s0 000000

053: 0000000000 PMTOOO0OD-1300V000000000 GainO 3.48%107
oooo

53 UUuoboooooon
5.3.1 000U

0000000000 0ADCOOODtrigeer 10 000000000000000O
0000000000000000 (ThCO000000000000000000)00
000O0TDCOO0O Triggerl,2,3,40 TDCO OO (t,tats3,t4) 00000000000
TDCOOO (t)0000000000000 (0 (5.1))

11+t +1t3+1
d— 1+ 2;:3—1-4 (5.1)

5.3.2 0U0O0OO0O0OOOO0DLOOODOODOO

gooboooboobo soemObDOobOO0OO0OOOOOOD 3000000000000
goboobooobooboooboobbooboobbooboobobon

gbobobobooooboboobboobooboobobooboboobboDbo
00000 54)000000000000O0OOOOOOOOOOOOO PMTOOOO
O00000000000o0o0oOoOo0oOoOo0ooOooooooTDCO FWHM(DO
0)0oo0o0o0o0ooooooooOoo

23



oo 2 6 10 18
eff 0.722 1 0.980 | 0.990 | 0.998
eff 00 0.006 | 0.007 | 0.007 | 0.007
Np.e. 1.22 | 3.24 | 5.01 | 10.1
Npe OO | 0.04 | 0.03 | 0.09 | 0.18

gsl:0000b0oo0o0ooooooon

Np.e.

X2 / ndf 27.46 /2

L pO 0.5172 + 0.008386
- : : : : : | p1 0.1373 + 0.05127
0 111 | 111 | 111 | 111 | | | 111 | 111 | 11 1 | L1 | 111 |
0 2 4 6 8 10 12 14 16 18 20
layers

054 000000000000000C00O0O0ODO (p0:000pl:00O)0000ODOODOO
ooooo

24



2 layers 6 layers
1600F r
1400 1000)
1200 - O — L [‘ f -
r 800
1000} t .L [ [L
800} H 600r”
600} j H [ iy
400 LRL
200} 4
] s
0 2 2 5 = i d
Np.e. Np.e.
10 layers 18 layers
. o wes 1095
1600 Il [ - r " 0 -
E L s 1000 1200 J s 250
1400 L
F Itegral 1977404 L Itegral 19790404
1200 1000f- L
1000 u! ook o "
800 4 i J \; L
E H 600[- J T
600 F
Fl ) w00
400 L‘L r Pj UH
200k L‘L\ 200[- ik E
[ oL
10 15 2 10 15 2
Np.e. Np.e.
2 layers 6 layers
1600F Entries 15367 Entries 19573
F Mean -2154 +0.08016 N Mean -2163 +0.04824
E RMS 9.91 E RMS 6.747
14001~ Integral 1.528e+04 2500 Integral 1.956e+04
E X2 ndf 296.3/34 L X2/ ndf 467.9124
12001~ po 91424241 2000 po 17334385
N pl -2155 +0.1 r pl -2164 £0.1
1000~ p2 8.426 + 0.097 F p2 5.851+0.060
L p3 4321+189.2 1500 [ p3 6484 +317.9
800~ p4 -2160 £0.2 r p4 -2166 0.1
E 2.607 +0.082 E 05 1.496 + 0.047
600F 1000~
400f b
u 500~
200~ L
-£00 2150 -2180-2170 -2160 -2150 -2140 -2130-2120 -2110 -2100

10 layers

3500

3000

2500

2000

1500

1000

500

79200 -2190-2180-2170 -2160 -2150 -2140 -2130-2120 -2110 -2100

Entries
Mean
RMS
Integral
X2 / ndf

19768

-2167 +0.03943
5.537
1.972e+04
528/18
2124 £459
-2167 £0.1
4.62 +£0.04
7331+425.0
-2167 £0.1
1.037 +£0.038

18 layers

Entries 19768

3500~ Mean -2167 +0.03943

C RMS 5.537

3000~ Integral 1.972e+04

o X2/ ndf 528/18

ss00F- po 2124 +459

F pL -2167 £0.1

E p2 4,62 £0.04

2000~ p3 7331+ 4136

E pa -2167 £0.1

1500 p5 1.037 +0.038
1000~
500

—2 0 -2190 -2180-2170 -2160 -2150 -2140 -2130-2120 -2110 -2100

056: 00000 TDCUOOOOOOOOOO (DODOOOUOoOoOooooOoO)

25



gboboooooo iomb1000000000000O00DOO0ODODOODOLOODOO
gboooobooboobbooboooo

00 [deg] | © 10 | 15 18 | 20 | 22 [ 25 | 30 | 40
off. 0.050 | 0.058 | 0.127 | 0.201 | 0.338 | 0.609 | 0.849 | 0.943 | 0.989

off. 00 | 0.002 | 0.002 | 0.003 | 0.003 | 0.004 | 0.006 | 0.006 | 0.007 | 0.007
Nye. 0.05 | 0.06 | 0.12 | 0.21 | 0.36 | 0.88 | 1.69 | 2.62 | 5.11

N,.. OO | 0.00 | 0.00 | 0.00 | 0.01 | 0.01 | 0.06 | 0.08 | 0.11 | 0.16

0s2:.0000000000000000

Eff.
Np.e.

0.9

0.8

=

0.7

0.6

w

0.5

0.4

o

03

0.2

=3
o
o
3
=
@

TR AR AN BRI A TETRNEIN ANE N AR sl bl b i 1
10 15 20 25 30 35 40 20 25 30 35 40
angle[deg.] angle[deg.]

o
3

Os70:000000000000: 00000000 bOO0On

0 (2100000000000 2°0000 15°00000000000000000
goboobobooobooboboobooboooobobooooboboooobobo
gboobobobobobooboobuooboobooboobobuoobobaoong
gboobolo°eoboobobooobobboooboboobbooboonbooong
goboboooobobooooobooooboobooobobboboooobobo
O00D0Oknock-on-electron 00000000 OO00DOOODOOOODOOODOO

O 51300 5.1400000000000000000 knock-on-electron 00000
O0000oobob0O0dUdDknock-on-electron0 000000000 O0OOOOODODO
00 2°000000000 1/10000000000000000O0DOO0ODOOODOO
ooboobooboobogoosisgbos.4bobbgbobooboobooon
gobooboooboooocb10°c00b00obOO0bOOOO0bLOODbbOODbbOO o0
gboooobd3setgboboooobobobobbobobobuobonoog 5.80
oD o0o0boobboobboboobo0oboboobbOoboUbbdknock-on-electron

26



gobodgbobooobod

00 [deg.] 0 10 | 15 | 18 [ 20 [ 22 | 25 | 30 | 40
corrected eff. | 0.005 | 0.010 | 0.072 | 0.151 | 0.309 | 0.594 | 0.842 | 0.939 | 0.988
00 0.000 | 0.001 | 0.002 | 0.003 | 0.004 | 0.006 | 0.006 | 0.007 | 0.007

us3 0000ooan

Eff.

— eff.
0.9

0.8 corrected eff.

0.7

0.6

0.5

0.4

0.3

0.2

iHH;HH;HH;H\\iHH;HHiH

]

0.1

\\\\i\\\\;\\\\i\\\\i\\\\i\\\\i\\\\i\\\\i\

5 10 15 20 25 30 35

OO

40
angle[deg.]

Us8: 00000000000000

gogs9bopooobobooobobuoooobobooooboboobobo
gbboubugbooooboobobboboobooboobuoobobobobooon
goooobooooboobooobooboooon

000000000O0o0O0000U00ooooOODOOooOoOoooooO(@ 51000000
gboooboobooboobooobobbobooboboboboboobooboon
0000000000000 0000000OD0UO0 % 000000 Uoooouoo
obooooobobooboob0obobooooobooDb NpeeOOOOOOoOOOOOO
goboobooooobooo

27



& 70
z L
o)
£ N
E L
65
60
55 X
N X
i 7\& X tdc_mean
sor == core-clad
et il iy, |~ Clad-air
0 10 20 30 40 50 60 70 80 %

Incident angle[deg]

059 000000000000000000DO0DO0ODODODODODODLOODOO
gboooobooboobbo:.0o0bbooboooboboobooon

00 [deg] | © 10 [ 15 [ 18] 20 [ 22 [ 25 [ 30 [ 35 [ 40

Np.e. 0.001 | 0.112 | 0.227 | 0.348 | 0.432 | 0.680 | 1.34 | 2.67 | 3.70 | 4.45
g 0.000 | 0.002 | 0.004 | 0.006 | 0.008 | 0.012 | 0.025 | 0.049 | 0.068 | 0.081

0540000000000 Np.e.

Np.e.

4.5

35

25

15

0.5

HH‘\\H‘HH‘HH‘\H\‘HH‘HH‘HH;HH;HH

N S IV SIS EUPATIN VRIS AU TR B
10 15 20 25 30

o
o

35 40
angle[deg.]

0 s5.10: 000 booooooboooobooobbooooon

28



1000

Entries

19810

Mean 5174 £ 0.01794

RMS 2522
800

Integral 1.976e+04
600
400
200

0' [ AR EPEPRPE APREPE EPRPRP APRPR =
0 12 14
Np.e.
25 deg.

— Enies 10657
2000 k Jvean 10721001251
1800 Lo rws 1614
1600 :— i..| ntegral 1.666e+04
1400
1200
1000

M B AT
10 12 14
Np.e.
Entries. 2166

1000 f—-+1;

8001

400F---44----

I UL I PR PR P

RMS

Integral

Mean  0.451+ 0.01939

0.9022

2166

3

O 5.11: 00000 Npe.OO 1

Np.e.

1200

1000

800

600

400

200

3500

3000

2500

2000

1500

1000

500

2500

2000

1500

1000

500

=

Entries

18022

Mean 31411 0.01516

RMS 2.034
L Integral 1.8e+04
N AP SN S B st ey
0 10 12 14
Np.e.
22 deg.
Entries 11800

| RMs

Mean0.921 + 0.0113

1.227

Integral  1.18e+04

I U PRPETIN PR AR
8 10 12 14

6
Np.e.

Entries arss
B *| Mean 02808+ 0.01274
L RMS 07792
- Integral aras

1ah

1 0




1200

Entries

2536

Mean 0.1259 + 0.01047

1000 RMS 05271
Integral 2536
800 .........
600 .........
400f—-----
200f—-----
P PP I SO, 5 VR IV P I B
-1 0 1 2 3 4 5 6
Np.e.
0 deg.
Entries 831
300
: Mean 0.05509 + 0.01107
: RMS 0.319
250~
o Integral 831
DT AR OO N 00 PR S U
150:_ .........
100~ S T S
T
-Illl—liﬂlﬂ'-IJ-inllnrillllIil—-lllillllillll
1 0 1 2 3 4 5 6

Nl

Np.e.

500

400

300

200

100

Entries

1019

Mean 0.05571+ 0.01355

RMS 0.4326

Integral 1019
vl | T ETSOUPOIIN Y= VU IPRTRTIN ETSTTETI AR
0 1 2 3 4 5 6

0 5.12:. 00000 Npe.OO 2

30

Np.e.




1800

1400

1200

1000

00

&0

400

200

00

700

&00

500

400

300

200

2580

200

S0

40 deg.

Entrie= 1980
E Mean 1241 0.08923
L AMS 13,85
- Integral 1.978e.04
C ¥ 1 el 1439745
C pl 8161 1 3.8
o pi -1243 142
C a2 1103 1014
o pl 1853 + 1587
- pd -1249 102
r p5 4375 2012
L 1l B A VO T I A B A O B
1 1250 1200 18D 100 1050 1000

TDC
25 deg.
_ Entries 18657
u Mean  -1205 1 {1486
F AMS 1916
F Integral 1. EEdrald
E o rdf I56.8 7 61
- pl G246 1117
F pi 206 182
ul p2 1777 2 0.18
E pd 86O 1 936
ul pd 1216 104
F g5 5255 1 {186
E, : P I B
[0 1250 200 15D 100 -10150 -1
TDC
20 deg.

Enbries BAKE
r Mean 1176 1 03635
- AMS. K]
r Integral BATH
r ¥ i 5116778
- pi 1156 + &7
r at 1178 4.9
r p2 2651 1 0.57
L pl 627.4 1 50.5
N pd 1181 1 0.8
r ps 7216 1 0.968
PR FETETEN PR TR B ny loy oo
[0 1250 1204 1ED ] 10150 100

TDC

30 deg.

Eniries 18022

= Mean -1221 + 0126

san RMS 16.689

L Integral 1.7972+04

F 3* f ndf 218.4 /52

a0 po 1048 + 1.0

= pl 1225 £ 0.1

r = 1211 £ 042

b0 — p3 B9S2 + 527

L [ 1198 + 08

C [ 4585 + 0180
400 |-
200 |-

[ |_J| I A A P T N A B A BB A
Him -1250 1200 BT 1100 1050 1000
22 deq.

Entries 11800

oo - Mean 1181 £ 0.2045

- RS 219

C Integral 1.1772+04

F ¥/ ndf 3668/ 69
400 |-

L po 3208 £ 9.1

C pl 1182 £ 0.4

L p2 2112 +0.24

a0 — p3 972.9 + 66.4

r el BENE N

C =] 6569 + 0,345
200 |-
160 —

(11 M T W [T AR
Fim 1250 1200 1180 1100 1080 1000
18 deg.

Enlfries 3087
o~ Mear 1175+ 0.5826
C AMS. 7.1
120 - Integral e
C 5 5 redf W2 EITE
100 = piy 4157 + 161
r gt 1198 29
L p2 93 t18
an = pl 4157 1348
C pé 158 108
&0 — [ 8.959 t {0535
-
20 -
MRV I SRS PR (I 1 P | P
Fhia -1250 1200 118D T 1080 100

TDC

0 5.13: 00000 ThCOOOODOO0ODOOO(OO0O0DUO0oooooo)

31



15 deg.

Eniries 2536
C Mean 1174 + 0891
140 | RMS 44.56
r Integral 2501
- 2
1m0 B 3 4 ndf 263.5/ 3
C Bl 1125 + 4.4
o 1 .
100 - [ 1211 £ 1.2
= p2 2408 + 0.96
r p3 732 + 334
a0 e 1148 £ 1.0
o g5 9.052 + 0.384
BD_—
-
20—
C | i I IR AR BRI B SR [
fim o iEm BT
0 deg.
- Entries am
o ean 1204t 1068
an
F AMS 20,14
?D:— Integral 744
E ¥ 1 081822
&n - Canslank 4307 =220
= Iean 213 114
50 - Sigma IELE 136
an
an
=
=
:....l....l....ﬂﬁ.ﬂ.ﬂ...l..
fim -1250 1200 18D R -1050

TDC

a

T

&

1

L

A

20

10 deg.

- Entries 1018
E Mean  -1202 & 1268
F AMS 40.18
E Integral 100a
F 3 ¢ rdf 1548725
= Coanstant 5281 + 258
E Mean G £ 09
- Sigma 2350 1 0.00
E PP B ﬂ.ﬂ-rlrl.ﬂ..l..
[0 1250 1204 1150 ] 1050

TDC

0 514: 00000 TDCOOOOOOOOOO(DODDOOOODOOOODO)2

32



gboolooobobobooooooooodoceobooooooooboboboon
gobooboooobooboooboboobooobobooboon

00 [m] | 03 | 5 10 | 15 | 20 [ 25
off 0.990 | 0.957 | 0.943 | 0.743 | 0.637 | 0.588
eff 00 | 0.007 | 0.007 | 0.007 | 0.006 | 0.006 | 0.005
Nye | 492 | 362 | 279 | 1.52 | 0.96 | 0.83
N, OO | 009 | 028 | 0.21 | 0.25 | 0.01 | 0.01

Uss:00000000000000D0O0

g 6 5 5 5 X? I ndf 222.3/4

s L : : : pO 4.791+ 0.08172
- : ; : pl 13.21+0.1525
51_ ....................... ........................... ........................... ........................... ........................... ..........

0 5 10 15 20 25
Length[m]

g 5.15:DDDDDDDDDDDDDDDDDDD(pO*exp(—p%))

05140000000000000000000000000000000O0 605dB/km
gooobooobooboboobobboboobooboobobbobooobooon
gbbooboobogobuoboboboobooboboobooboobooobooo
gboboobooboobobooboooooooooboobobonoonooooobdidOcore
OcaddD0O0ODODODOODODOODOODOOLODODODOUOODODODODODOD
097%00000000000000000

33



OO0 ml[o03] 1 [ 3 ][5 [ 7 [10]15]2]25
N,. |552]513]430]369]3.25]267]1.80]1.21]0.90
OO0 |0.10 | 0.09 | 0.08 | 0.07 [ 0.06 | 0.05 | 0.03 | 0.02 | 0.02

O 5.6: Smulation 000000000000 O0O0OOO

s 6 5 5 —— X2/ ndf 15.41/7
sk : : : pO 5.466 + 0.0516
. pl 13.59 + 0.1389

0 5 10 15 20 25
Length[m]

O 5.16: Simulation0 00000000 OCOO0ODOOODOOCOOOOOO (pO*exp(—p%))

34



0.3m 5m

T T T T - T —| Entries 19768
T : : : : : H 1000

Mean 4.945 £ 0.01305

Entries 19220

Mean  4.074 + 0.01659

1200

RMS 1834 RMS 23
800

+ | integral 1.975e+04 Integral 1.921e+04

1000

800"

600
400
200~
oLl 0_'...i...i...i...l...i..'r-....L.i..-
0 2 4 6 8 10 12 10 12 14
Np.e. Np.e.
10 m 15m
1200 - - - - — s 18022 — - - - - - —| envies 14710
Mo : : : : i mean a1e1001516 t Mean 1543+ 001194
N 2500
1000 |rws 203 r Rvs 119
Integral 1.8e+04 : Integral 1.471e+04
2000 |-
1500
1000 |-
500
M B i [ oy ¥ I SN PPN Pl I I BT PR B
10 12 14 0 2 4 6 8 10 12 14
Np.e. Np.e.

20m 25m

- Entries 1920 - - - - - - - - —| Entries 140
400 :_ 1 | vean 1249 + 003076 - - Meanl.477 + 0.1248
350 [ rus 1351 r RMS 1477
3005 Integral 1029 L Integral 140
= . 20
250 [
o ] P
200 [
150~ 10
100~ C
E sF
50 -
bl i B0 b oEe LTI L,
-1 4 5 6 7 8 9 - 1 2 3 4 5 6 7 8 9
Np.e. Np.e.

O 517 00000 Npe.OO

35



gboboboboboooooooobobobo silebooooboboooD
gobooooooooooooooooorwHMUODOODOODOOD

Time[ns]

OO0 [m] [03] 5 | 10| 15 | 20 | 25
FWHM|ns| | 0.42 | 0.93 | 2.03 | 3.09 | 3.65 | 4.85

Os57 0000000000 FWHM

..................... S N SN I X s | 0.1285/ 4
: : : pOo 0.181+ 0.008642
A A A pl 0.2247 + 0.1308
oy by e T T
5 10 15 20 25
Length[m]

0518 00000 FWHMOOOOOOOOOOO (po:000pl:00)00O0OOO
gooooo

gboobooboooooboobrwHMUODODOODOOOOOODOOOoOooooopPMT
goboobobooboobooboobobobboobooboobobbooboobg
0000000000000 0000000OO00C0O0o0oooDOo0OO 8% EOooO
000000000000 519) 0000000000000 DODOOODOOOOOOO
000000000 0DO0o0OO0O0oDOoOOo TOoPOOOODODOODOOODODOOOOODO
gboobogooboabod

36



Time[ns]

2.5

15

0.5

3
0.55

7
1.47

10
2.00

15
2.69

00 [m]
FWHM]ns)

0.3
0.16

1
0.25

5
0.96

O 5.8 SimulationO0OO00O00O0OCOO0OOOOO FWHM

0.04449 /5
0.1795 + 0.007334
0.09669 + 0.05607

12 14 16

Length[m]

0 5.19: Simulation 000000000 FWHMOOOOOOOOOOO (p0:00 0O pl:
00)00o0o0O0oooooooo

37



0.3m
- Entries 19768
E Mean -2167 + 0.03908
2000~ RMS 5.487
1800 Integral 1.972e+04
E X2 / ndf 609.5/34
1600 po 1387 +26.9
1400 p1l -2167 £0.1
E p2 4.419 £0.042
1200 p3 4078 +248.8
o 4 g
1000 p 2167 £0.1
o ps 0.9355 + 0.0397
800
600
400
200
E o AP I T, SN U
5500 2100 2180 2170 2160 2150 .2140 2130
TDC
10 m
Entries 17702
1200 Mean  -1224 +0.1357
F RMS 18.04
r Integral 1.768e+04
1000 — X2 / ndf 435.1/47
[ po 685.8 + 16.2
C pl -1223 £0.3
800 p2 154 0.2
I p3 3269 +118.1
600 |~ p4 -1237 +0.3
+ p5 5.425 +0.128
400
200
L. | I ol vl
f500 T1280 1200 1150 1100  -1050  -1000
TDC
20m
Entries 12969
800 Mean -255.3 +0.2879
o RMS 32.73
700 :_ Integral 1.293e+04
o X2 / ndf 387.2/41
600 po 507.1+14.1
o pl -257.8+0.7
500 p2 31.56 +0.41
o p3 1412 +108.9
400~ p4 270.1+13
o psS 11.7 +0.7
300
200
100
S P I P .. = WP T P
960350 300 250 200 -150 100 50
TDC

Entries 19220
1600 Mean -1704 +0.08157
C RMS 11.3
1400 Integral 1.92e+04
r X2 I ndf 417.6 /45
1200 PO 919.8 + 26.2
C pl -1706 0.1
1000~ p2 9.056 + 0.120
C p3 4073 +193.5
800f p4 -1709 0.2
F p5 3.112 +0.083
600~
400
200F
Lol A PRI PRI b, L
£760 1740 1720 1700 1680 -1660 -1640 -1620
TDC
15m
Entries 14710
E Mean -733.1+0.2154
800 RMS 26.09
o Integral 1.468e+04
70 X2 I ndf 240.2 / 46
E po 607.9 +11.9
600F pl -733.7+0.3
E p2 2434 +0.21
500 p3 1276 +87.2
E 4 R
200F- p: 751.3+0.8
E p5 7.697 + 0.365
300
200
100
T AP I A
850 800 750 700 -650 600  -550
TDC
25m
Entries 12014
600~ Mean  206.2 + 0.3542
[ RMS 38.69
500 Integral 1.193e+04
C X2 / ndf 232.5/51
I po 4214 +8.9
400 pl 206.5 + 0.6
[ p2 34.29 +0.42
[ p3 679.2 £52.1
3001 p4 173.8+1.9
N pS 17.72 £0.79
200~
100 :—
%5 ~"100 150 200 250 800 350 400 450
TDC

0 5.20: 00000 ThCOUOUOOOOODODOO (DODODODOOOOOOODO)

38




el OO

uobobodgobobooobbooboboooboboooobobooobboooon
o0oOOo00oDOOoO0OoOo00oDoO00ooOoOoooOoOoDooOoooo TOPODOODOODO
gboobooboooooboboooobobooogboobooobooboooboobo
gbboobuooboboboboobooboboobooooboboboobooboon
goboobogobboooboobboo20bbo0oboooon

gbbh1-00bobooobaobooo
Us300000b00bo0booboobooboobooboobbe:0O00
05300 5200000000000000000000000000  eunknown B O
gbooobooboooboobboobbobboobobooboonn e oo
goooboobooobobooboobobooboobooobooboobooooon
oooooboooooooobobo0 e1ldeb 00000 OUOOLtO0 nobhitO OO
OO0O0000DO0CO0O00O0htObO0O00000 unknowndODOOOOO nohitOOOODO

hit | unknown | no hit | OO OO
2 0 0 hit

1 1 0 hit

1 0 1 unknown
0 2 0 unknown
0 1 1 no hit
0 0 2 no hit

0e6.l1: 2000000000000

000000000 hitDunknownOno hit 0000000000 EnitD BunknownD
Enohit ood

Enit = €nit * enit + 2C1 * €nit * Cunknown (6.1)
Eunknown = 201 * €hit * €nohit T Cunknown * €unknown

Enohit - 201 * Cynknown * Enohit + €nohit * €nohit (63)

0 (6.1)00 (6.2)00 (6.3)0000 61000000

39



.......................... ><><
> hit
><_unknown
X no hit

................................................. VS TN WS

......................................... ><

0. - i : i i >< ............... s ‘ ......
O;E‘I 1 1 1 I 1 1 1 I;I 1 1 I>§KI I>I<I I 1 1 1 I*I 1 1 I\lg/l 1 1 1 I 1 1 1 I%‘_
0 5 10 15 20 25 30 35 4

angle[deg]

061:20000000000000 hitd unknown no hit 0 0O O

000000000000000000000000000000000900000
0000000000 2°0020°000000000 97%00 5%000000000
0000000 6.2)

gobD2-00000000000
0(210)0000000000000000OOOOOCOPMTOOOOOOOODOOO
gboboobgobobobooboouooboobobboboobonoooboooong
O00D0000000DO0O00DOD000 Geant4dOODOOOODOOODODOOODOOODO
OUO0OKwarayOUOODOOOOODOODOOOOOOO0ODOOOOOODO

10000 (mm) |[core0000 |clad00O0O0O | 000 (m)
1 1.59 1.49 13.2

062 00000000000

000000000000 470MeV/cO et 0000000 (O 6.3) Npe.0OODOO
gboooooooooobocgooooobon

O00001GeV/cO 7/KOOOODODOOOOOOOOO20°024° 00000000
0000000000000 oooooo(@ 6.4)

40



Hhov9—m3DDE

ADVI—=D5DDIHFE

: ¥
E X E
0.8F 0.8F
0‘72 o m;
05F > hit 06% > hit
05; unknown 0‘52 unknown
0.45 > no hit 04; > no hit
0‘35 o‘si
02f 02F
e "E %
G\ ol |‘ IIIIIIIIIIIIIIIII L RN I AT AT ST ‘TETETENL LA A BT
0 5 10 15 20 25 30 35 0 5 i0 15 20 25 35
angle[deg] angle[deg]
AIVH—BTDODIHE AIVH—DIDDIFE
EN: X CE X
05: g‘g;
osf 0af
Mi = 07§
o‘ei ¢ hit O‘Ei > hit
n‘si unknown msf unknown
0‘4§ ol 0‘45 >< no hit
oef ME
E x =
02 0.2F
= 0 F
O; L L “|>‘<|‘ T T | ; | TR T A S LT B LRI B A S
0 5 10 15 20 25 3gng‘a[deg] s 5 o 20 35 Sgng\g[dgg]
062 000000000000O0O0O0OOO
00 [deg]| O | 10 | 15 | 18 | 19 | 22 | 25 | 30
Np.e. 0.02 | 0.07 | 0.11 | 0.15 | 4.64 | 8.36 | 899 | 9.9
gad 0.00 | 0.00 | 0.00 | 0.00 | 0.15 ] 0.26 | 0.28 | 0.31
0 6.3: et 00 Npe.DOOOOO
00 [deg.] 0 10 15 18 19 20 22 24 25 27 30 35
Np.e.(w) | 0.00 | 0.12 | 0.09 | 0.15 | 0.87 | 6.60 | 8.06 | 8.58 | 8.93 | 9.27 | 9.69 | 10.8
00 (x) | 0.00 | 0.00| 0.00 | 0.00|0.03]0.21|0.25]|0.27 | 0.28 | 0.29 | 0.31 | 0.34
Np.e.(K) | 0.01 | 0.07 | 0.09 | 0.08 | 0.12 - 0.11 | 0.21 | 5.19 | 7.71 | 8.61 | 9.76
Oo0 (K) | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 - 0.00 | 0.01 | 0.16 | 0.24 | 0.27 | 0.31

0 6.4: 7/KOO Npe.OOOOODO

41




Np.e.
T

10

—

\\\i\\\i\\\i\\\i\\\

1 1 1 1 I 1 1 1 1 l 1 1 1 1 l 1 1 I 1 I 1 1 1 1 I 1 1 1 1 I 1
5 10 15 20 25 30
angle[deg.]

o

063: 00000000 000000000 Npe.OOODOOO

— pion(1GeV)

10 — — __—_—— I ........

—kaon(_lGeV) ; I I I

Np.e.

\\\i\\\i\\\i\\\i\

||||i
° 5

1 1 1 1 * 1 1 1 1 l 1 1 L B I 1 1 1 1 I 1 1 1 1 I 1
10 15 20 25 30
angle[deg.]

o

064 00000000000000 #/KOO

42



ggbbooobuooobbboooobbooobbooobboobbooooo
ubboboboobobobbobboboobobooboooboooboooboooobooon
gooobo20b000boobooboboobobbobooboobOooboonoon
gbboobuogbooobgbooobobooboboobobbooboobooboon
goboobooobboooboooboobooobooobooboonoog

43



Jotg

[1] Particle Data Group, Chinese Physics C Vol.38, No.9 (2014) 090001

[2] K.Nishimura, ”The time-of-propagation counter for Belle II”, Nucl. Instr. and
Meth., A639 (2011) 177-180

[3] K.Inami, "TOP counter prototype R&D”, Nucl. Instr. and Meth., A639 (2011)
298-301

[4] D.leith, "DIRC - the particle identification system for BaBar”, Nucl. Instr. and
Meth., A494 (2002) 389-401

p] 00 0OO0O0’000000000n=1.00300000000000000O000O0OO
OOoO0’000000000D00O2012

[6] Geant4, http://geant4.web.cern.ch/geant4/

[7 DOO00D0000O0OOOhttp://www.lns.tohoku.ac.jp/fy2011/index.php

44



NN

gobobooobbooboooobbooobobooobbooobboooooo

goo

gbobooooobgooboooooboooobobooboboboooobobon
gobbobbooboobuooboobooboobobbooobobbobobonoo
goooo

gboboobooboooboobooobobooboobooooboooobobobooboobon
gbobooboobooboooboboobooobobooboboboobbobooobonoo
gobodboooobooboooobooboooboobbooboobobooo

gobobobobobobobobobobobobobobobobo

gbooobooboooboboooobobooboooboboooobobobooogn
gobogg

45



